Chapter 10: Solutions

P10.68:




P10.69:




P10.72:

(a)
After 2:10 p.m. and before 2:15 p.m.     At 2:10 p.m. the minute hand points to the 2 but the hour hand has moved toward the 3. At 2:15 p.m. the minute hand points to the 3 but the hour hand hasn’t reached it yet.

(b)
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Let 2 P.M. be the initial time.












Meet your friend at about 2:11 P.M.

P10.76:
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P10.80:

(a)



(b)
25 s, because 
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 is the same as in part (a), and 
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 is constant.

P10.83:


(a)




(b)



P10.85:

(a)



(b)



P10.94:

(a)
Down is positive. 







(b)
Up is positive.







(c)
Up is positive. 






P10.93:


(a)




(b)



P10.84:
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